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1/2 60 60 45 45 10 35
3/4 60 60 45 45 10 35
1 75 75 55 55 15 35
11/2 225 225 170 170 45 35
2 300 300 225 225 60 45
21/2 300 300 225 225 60 45
3 450 450 335 335 90 45
4 600 600 450 450 120 45
6 750 750 560 560 150 45
8 2250 2250 1685 450 45
10 2250 2250 1685 450 45
12 2250 2250 1685 450 45
16 2250 2250 450 45
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318713 @ 1/2" 0 3/4" ?1" 011/2" | @2"-21/2" @ 3" 0 4" 0 6" @ 8" -12"
Adausns TRt 60 70 85 185 610 640 870 110 2,150
AMAFeUALTIBINT 60 60 75 225 300 450 600 750 2,250
TIUAYOULAENAFDU 120 130 160 410 910 1,090 1,470 860 4,400
AviudSounas At 40 40 50 150 200 300 400 500 1,500
mmaﬂwmma%mmi’mﬁw 35 35 35 35 45 45 45 45 45
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1. NAFDUANUAINULLTIAY = 1 L?’ﬁl@ﬂ (FWugUNAFeU 1 : 100)
=1x45 =45y
2. maaumﬁugmﬁa =1 Lﬂ%l@\‘i (FMugunaday 1 : 1000 Lagnaday 2 nd1/ind0q)
=1x2x45 =90 um
3. Mpdoun1sUeItuLLEN = 1 1A3es (Frunudunaaay 1 : 100 uaznadeu 4 A3y/An3o)
=1 x4 x60 =240 v
4. MAdeUAMILTIBINII = 100 LAS0S (F1urudumeaeu ynLATed)
= 100 x 60 = 6,000 UM
sauAlg1e9eRY = 45 + 90 + 240 + 6,000 = 6,375 Ui (ArldE1BTUR)




